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17th International Mathematics Primary Contest (Taiwan)
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( A )l.a~b HEHE 2x3+ax2+4x+b=0[§]/\]—‘7FE%\/5—1 SR, b)=?
(A) (7,-3) (B) (-7, 3) (C) (0, -2) (D)(-6, 2)

<fEHT>

x=v2-1"> (x+1)>=2 > ¥*+2x-1=0

2% +ax’ +4x+b=(x" +2x-1)(2x + k)

4=-2+42k > k=3

2% +ax’ +4x+b=(x"+2x-1)(2x+3)

Sob=-3 0 a=4+43=7 > HEA -

(A itk BB BT R G 2 ko - K kL
(&) kzg (B) ksg © kzz D) k<>
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<fFAT> 4

2x% =3x+k>0A E

%Dz(—3)2—4><2xk30 .
y=2x"-3x+k

éﬁkz% » BHEA o

>
>

(B )3.REERF 10000 TTF ASRIT  FFAIZR Ey 2% » G FEAEHE—Z0 R 10 4%
LA 45 0] A R FI 2% /0 717 (1.01°=1.1046 > 1.01° =1.2202 » 1.02° =1.2190 °
1.02*° =1.4859) (A)11046 (B)12202 (C)12190 (D)14859 7T

<f@AT>

K%U%Dzloooox(uo'—gz)” =10000x(1.01)* =10000x1.2202 =12202 > 75 B °

1

( B )4.45;1[ = [ - [—7(A)2(B)2(C)I(D) V2
<fEffT>
(1+4/3 +1- I) 2 2 2 -

:_23 3E o
(1-31+43) 143 143 1++5 =8

(B )5.58%<a, > ZHIEHATHRAVZFERES] - Hagxa,=9 > HI:
FLIH/ZSH



log, a, +log, a, +log, a, +......+log; a,, =7 (A)8 (B)10 (C)12 (D)log, 15
<>
)ﬁfﬁ:logﬂal Ay Ay -a,) =log,[(a, -a,g)x(a, ay)x(a;-ag)x(a, - a;)x(as - a,)]
=log,(asa,)’ =log,9° =10 » HE B °

(A ORRUHSEERERCETE 8 *F T ARN " H ) SRl - AEfTs - Riftr 2/ 22
A2 DI REVEGR - BERIETEAET) (A)16 (B)18 (020 (D)22 AR

<fEEAfT> L

WE > FEREEx AR Ey AR \

—xy =28 y

W AR FRe=2x+4y X ) X

HfR R 2 pedy )
y

—2x+4y 216 > F/DAEMRF 16 N RAVEER

HEA o

( D )7 EH& L 3x-4y=5 T H » HIFEFE LR A IERTE R = B a6
HITE 4R L F2=0AM7 (A)3x+4y=6 (B)4x+3y=6 (C)3x+4y=12 (D)4x+3y=12
<fEAT>

S Lt ax+3y=k (k> 0) > BIFTAHIZHAG 0+ 00 )
o=l =6—k=+12(B &)
L HAR TR R 4x43y=12 > #ED -

(B )8x > yieE L3x+dy=1 > HIJ(x-1)2 +(y—2) ZB/IMEE? (A)1 (B)2 (C)3 D)V5
<f#fT>
V=12 +(v—-2)* # P(x, YEI(1, 2) 2 #E8k - {5 P 1£ L3x+4y=1 E

= 3-1+4-2-1] 10 .
W/ ME=|———=—=2 > #B -
V3% +47 5

( B NV kZEE CFIEL Li3x+y—k+2=0H1E C:x*+)’ -2x+6y=0FH3 > Ak {H
BB B T2 (A)-8<k <12 (B)-8<k<12 (C)-6<k<10 (D)-6<k<10

<fEEAT>

Bl C: (x-1D*+(y+3)*=10

B0, -3) 0 FfE=410
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VUWEAERE LB E] L AR = K
3-3-k+2

egs\h_ ' |-k+2/<10
V32 +1?

—>_10<—k+2<10 > —8<k<12 > i B o

( D HI0EZKEE f(x)=a(x—h)’ +500E f3—1)= f(B+1) > teR » R NFI{r[& EHE?
A) f0>0 (B)f(0)=0 (C)f-D> (D) f-D<f(T)

<fEAT>

L fG-0= @+ CEEE Ay x=3—>h=3

R AR AR T 1H)

C.a Al EA[E

Sr=4ftA 0 fD=7() 0 ED -

( BOILBEAARERESS > 54FH - 2~ W~ TIUA » 88 RuEEE Y 5E 0 JlE
2~ W E/DE—FEE - B4 (A)560 (B)570 (C)580 (D)590 &

<f#fr>

COEREREN ) SRR T A H=3" +3°-2° =454

2~ PR/ S5 58=4 -454=570 > JE B -

( DOnRmEE6 AN 2S5 NEHS MARZEES > REBLEEDE2 A I
4557 (A)320 (B)330 (C)340 (D)350 &

<fEAT>

@ "3 52 4 HYEEAA CixC; =20x10 =200

@ "2 53 EEEA: CxC=15x10 =150

i 200+150=350 fi » #E D o

( ADBERPEAGIR - SEE B~ L2 MRIEZH LR Z - Z N7 - HE&ET
HUeh 1BK > BUgRgle] > BUESeHUS EERE Rl - KA Z AR Ry fal?

9 5 5 4
W B ©F Dy
<fHHHT>
B —E: HE—Y Bz

9 9 9
v ~ 4 5 4
== Sx—=9:5
S e S
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( B HI4=A ABCHJAB=8 > A_C=4ﬁ&coséBAC:jg

» Hlfsin ZACB ="

3 4 12 5

(A)g (B)g (C)E (D)B
<fEHT> W[5
ﬁz=82+(4J§)2-2x8x4ﬁcosA=64+80—64J§xL

Js

. BC=+80 =45 i
(45 +(@5) -8 3

cosC= 2x4/5x45 5 4k

C.sinC=+/1-cos’C = /1_(% 2 =%

#EB -

=80

(D )HI5.LLx—sin10° [ £(x) =—8x> + x* + 6x +sin® 80° I EF = 7
1 3
(D)5 B OR
<fEfT>
f(sin10°) = —8sin’ 10° +sin> 10° + 6sin 10° + sin” 80°
=2(3sin10°—4sin’ 10°) + (sin® 10° + cos? 10°) = 2sin30°+1=2 > #E D o

(B )I6EEHEL f(x)=4-5"+5 > HIl r(x) 85/ IMEE? (A)10 (B)20 (C)30 (D)40
<fi#tr>

f(x)=4-5+5""=4.5"+25.5"

R 2 A=A
%z 4.57.25.5% = /100 =10
S f(x) =220

(B OITEEEOHE 0ol > Hlog 4-log,x=1 » Bl x=2(4)5 (B); O D)
<[>

"."log, 4—log,x=1—>log 2° —log,x=1 > 2log,2-log, x =1

“log, x=t ° logx2=%
.'.%—t—1:0—>(t+2)(t—1)=0 =180 =-2

1
(Dlog,x=-2 » x:Z*Z:Z @log,x=1 > x=2(H 0<x<1)
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( C )I18&klog,5=a > log;7=b > Ll a ~ b K Rlog,, 63=?
1+ 2ab 2+ab 2+ab 1+2ab
(A) (B)

ab ab © 14 2ab ®) 2+ab
<fEAT>
log, 7 =(log, 5)(log; 7) = ab
log;63 _log,3’ +log,7 _2log,3+log,7 2+ab ...
log,147 log,3+log, 7> log,3+2log,7 1+2ab

C o

log,, 63 =

B

( D )I9/NgE A BEEE—SEEERS 6 A H - B FAY/NeE B AHEE 12 A H - SEK

TEELEQL%_%EZ&H?%@@ A~ B iR > R 58 A HYEERERR R
120

2%/ DN (A) 2 (B) = (C) 10 (D) 43 A
<> )
it i s AT P BE 6 )
AP=PB=x
HB=+12%-6 =64/3—>HP =6+/3 - x H o35 P X B
HIx*=6>+(643-x)> * x=43
BED o

2 3
X X
+

+x? 1+)C4 1+x

( D )20, f=¥"-1, gx )—1
3
W 5 B 2 © -3 D) -2

-, f(a)=0anda #1. Find g(a).

2 3
X X

f@=x"-1> g)=—g+——+—— > f@)=0Ha#1 " Kga)=?

1+x% 1+x* 1+x

& > ® 2 © -5 D -2
<fhiT>

fl@)=a'-1=0—>d" =1 d*=a > a’=a* -

a -1=0—>(a-1)a’+a’+a* +a’+a’ +a+1)=0
a=180a’+a’ +a*+a’+a’ +a+1=0

Eail y 1+a*+a’+a° =—a’-a’ -a

a’ a’ _a(1+a4)+a2(1+a2) a’ _a+a5+a2+a4 a’
gla)= e 6 2 4 + 6 2 4 T 6
1+a’ 1+a l+a (I+a)(A+a”) I+a’ l1+a +a +a’ l+a
_—l—a —-a° N a’ B a’+a’ +1 a’ _(a6+a3+1)(1+a6)+a3(a5+a3+a)
—d’-a*-a 1+d°* d+d’+a l+a6 (@’ +a’ +a)(1+a®)
a®+ad’+1+ad+d’ +ad’+ad’ +a’ +at d+d’+d+d’+at +d’ +1424° 24" )
a"+a’+a’+a’ va+a ad+at+a’+a’ +a+1 —a°
B D o
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1 0 20000

( B )21.Let b= 10953 what 18 the units place of the whole number part of b?
(A)1 (B)3 (C)7 (D)9
N s Sk b B EAIEE=" (A1 (B)3 (O)7 (D)9

10" +3

1020000 (1 0100 )200 _ 3200 3200 (1 0100 )200 _ 3200 9100

b= = _ .
10" 43 10'° +3 10" + 3 10" +3 10 +3
N0 < <1 » Bty QO237
10" +3 : 10 43
%10100 =t
b e s O =3 (Y9 (@) @) 9kt 129" 497
t+3 t+3 t+3

(=3[ + () 9t et £7-9% +9%]= (100.....0 = 3)[AA....00+ 9] = (corer T)(rrrrnn9) =3
Efr 8 F=3 > B -

(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-1-{i7#%) and the digit in ones place({E {17 #x)?
(A)9 (B)12 (©)15 (D) unsure

<HHEEE>

£ 1~0 st — (A8 > IEEEETEL 3 > i 31& > 3L 3 E28—4HET

IR B E T B2 FE 26707 (A)9 (B)12 (O)15 D) A HEE

<fEffT>

L PSRBT By x D (3x+3) X 3=0x+9—>9 {5k

oA HE AL R T=9 0 A o

(B )23.Right graph is made by 8 identical (fH[E]FY)squares, whatis ZABC?

(A)120° (B)135° (C)150° (D) 165° —

<ElEE>

FIEE 8 (EHHFEIVIE ATAER » SR ZABCHYERIE S /7 ° |
(A)120° (B)135° (C)150° (D) 165° -
<fEffT>
DAD =2°+1=5=BD > AB =3’+1=10 T
AD +BD =10=AB  ..4£ADB=90° AT 7 —c
Y AD=BD .. /DAB=/DBA = 45° -
@a+b=90° .". ZABC=90°+45°=135° » 75 B o
(A )24. There are nine cards are labelled (Z=E)from 1-9. Joe, Bill, and Cathy take three
cards each.
Joe said:  “The product of my cards is 48.”
Bill said: “The sum of my cards is 15.”
BeH/ME8H
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Cathy said “All my cards are odd numbers(Z7#%), the difference(Z) between the
largest number and the smallest number arranged by three cards in different order 1s
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(C)Bill has the cards with 3,5,7 labelled. (D)BIll has the cards with 3,4,8 labelled.
<HlEE>
HE1-2-3-4~5~6~7~8~9HJL5Rh > Joe ~ Bill ~ Cathy &% 3 R
Joe 5i: T FRAY 3 TRRE 2B fy 48
Bill &5 T 3RAY 3 R ZFIE 155
Cathy &ft: " 309 3 sRREEN S E > HERGR AR = Bl s N = 8o 72 5 792 4
NEIEIE TEAE? (A) Joe BUE 2~ 3~ 8 (B) Joe HIZE 2 ~ 4 ~ 6(C) Bill HiZE 3 ~ 5~ 7(D) Bill
HE3~4-~8
<fEfT>
Joe 48=2X3X8=2 X4 X6
Cathy HUERI5REAEZ 8 > Bie 1 f19
WECE 1-3~5-7~94L5{F - Bill =5&F115 > VA 1 5REH > Cathy A 3 5REHH
cJoe B 1 EEE Bl Joe &2~ 38
Bill @4-~5-6 >»Cathy&21~7~9° %A~

( C )25. As the graph shown, there are right angle line segments (B FAHT45E%)formed by
three straight line inside a square, the length of three straight line 1s 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60

<HlEE>

W& - F—{EHEF RS R AR I B TR » HEE A5~ 6F19 -

AR Bl BV R = (A)4S (B)S0 (©)55 (D)60

<f#HT>

EARER (5 +5)+2=125 , jmamen 5 435 3
FI12 WALy > B ARS8 o0 T A By O
125+2+42x6+2-3x9+2=55 Y. N 5
HECo

o EPEREGRE 25 4y 0 50 4
. HIESE KA ZIN RS > EE B T REFERAE T RT Eﬁﬁ%élz:@%gaa‘

E %%??%Zéﬂ% DERAE T A i%él%ﬁ%ﬁa‘ B ?é??%éiﬂ% o SEREEZOEE

F e T —E ERR—E—L) » WRIREERIVAE » 0 BCHRfZE?
<fEffT>

R FE=2:1=4:2

FEF =21
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S he=4:2:1
ISERRE SE SRl ST

2. 25 ab,c,d BEE > Bd+b++d*+1<a+b+c+d
<fAEHT>

a+b’+c*+d’+1<a+b+c+d
1 1 1 1

— (@ —-a+—)+b —b+)+(c—c+)+(d’ —d+-)<0

(@ -a 4) ( 4) (c"—c 4) ( 4)

. 1 1 1 1 .

) (a_E)Z +(b—5)2 +(C_E)2 +(d_§)2 <0Hab,c,d EEE
. 1 2 1 2 1 2 1 2
@==)20 0 (h—2)220 > (c==)20 * (d-=)*20

(a 2) ( 2) (c 2) ( 2)

1 1 1

a-to0p-too s eclog s alog
2 2 2 2

Ala=b=c= d—=—  EEEES
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